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{
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break; | |

default: K
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switch(i)
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break;

V—23— Rl
V=T 74 )L : Sample7_1.java
é )
/] ABDBOHIRE
import java.io.*;
class Sample7_1
{
public static void main(String[] args) throws IOException
{
/] F—IR— FABDD%ESRH
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
/] F—=h—FAD
System.out.println("EHZEZANLTIZE0, ");
int i;
i=Integer.parselnt(br.readlLine());
switch(i) // B i [CKDNEBEDIR
{
case 1: // i1 DEE,
System.out.println("1 DADSNE UL, ");
break;
case 2: // iD'2DEE,
System.out.println("2 ADSINZFELE. ");
break;
default: // iD'1 TE2 TERNEE,
System.out.println("1 D' 2 ZAD LTI ZEL), ");
break;
}
}
C b
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RTEHE 3

BEaADLUTLIESHY,

3
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V—23— Rl
V=D 741 )LE . Sample7_2.java

r
/1 ADXFDHITE
class Sample7_2

{

public static void main(String[] args)

{

char c='b’;

switch(c) // B#H c [CKDWBEDIR
{
case 'a': // chV'a'DEE,
System.out.println("a Cd");
break;
case 'b': // cHV'b'DEE,
System.out.println("b T3™");
break;
default: // ch'a' TE'b' TERNEE,
System.out.println("a CEb TEHDFIEA");

break;
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CC_C. B¥latb%&boolean Bl LFET
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RIEE
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@ BREEF C—H#IC

N
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boolean B! Cd

HIBBEFOANS Y RIC
BREEFZANCAZSE
<CENBNTT

1(3 < 5) > false

a b a &b
true true true
true false false
false true false
false false false
zEZIE

(1 == 0)&&(1 < 2) > false

a b allb
true true true
true false true
false true true
false false false
zEZIE

(1 ==0)||(1 < 2) > true
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V—23— Rl
V=T P41)UE : Sample7_3.java

A
/] wWEBESEFORIEER

class Sample7_3

{
public static void main(String[] args)
{
System.out.println("!true = "+ (!true));
System.out.println("!false = " + (!lfalse));
System.out.println("true & true = "+ (true && true));
System.out.println("true & false = "+ (true && false));
System.out.println("false && true = "+ (false && true));
System.out.println("false && false = "+ (false && false));
System.out.println("true || true = "+ (true || true));
System.out.println("true || false = "+ (true || false));
System.out.println("false || true = "+ (false || true));
System.out.println("false || false = "+ (false || false));
}
\}
=TEd

Itrue = false

Ifalse = true

true && true = true
true && false = false
false && true = false
false && false = false

true || true = true
true || false = true
false || true = true

false || false = false
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V—23— Rl
V=T P41)UE : Sample7_4.java

(// AXF « INXFDUNE

import java.io.*;

class Sample7 4
{
public static void main(String[] args) throws IOException
{
/] F—=h—FADDER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

System.out.println("@/RXTIEBETIN?¥nY DN ZADULTES0) ");

/]l F—M—ED5—XF&AD
char ¢ = br.readlLine().charAt(0);

if(c == 'Y' || c =="y") // YEZEy DEE,
System.out.println("®HRTIEIBUTIR, ");
else
{
if(c == 'N' || ¢ == 'n') // NFEZIEn &S,
System.out.println("®HRXCELZMHETIR, ");
else

System.out.println("Y DN ZADULTIZEL), ");

}
@ 1 XFADEMDF—R—BAD

¥
\\ //F—R— FDBXFHZEAD
String str = br.readLine();
/1F—Th—REDSEHEAD
int i = Integer.parselInt(br.readLine());

/1F—IR—EDSREEAN

[/F =M= D 5—XFEAN
char ¢ = br.readLine().charAt(0);

double d = Double.parseDouble(br.readLine());

RTEE

HISZIIHEETIN?
YINZABDLTLIESU),

<

HISIIBEHETIN,
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f.)‘ if TORERORBEET || & switch XTHONDOISEBELUTHELLS

V=D 741 )LE& | Ext7_1.java

(// ANXF « INXFOUIE 2

import java.io.*;

class Ext7_1
{
public static void main(String[] args) throws IOException
{
/] F—h—FADDER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

System.out.println("@®DRXTIEBHETI N ¥y DN ZAD LU TIES0),

/] F—M—FEDHE—XFZAD
char ¢ = br.readLine().charAt(0);

switch(c)
{
case 'Y':
case 'y': // YERRy DEE,
System.out.println("®HRXTEBHETIR, ");
break;
case 'N':
case 'n': // NFEEldn &,
System.out.println("®RXCIELZMHETIR, ");
break;
default:
System.out.println("Y DN ZAD LTI ZEL), ");

")
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ctrueDEE N1
s false DEE I 2
ZNIBLET
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EERRIREND

ctrue DEE N1DE
s false DEE N2 DIE
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BERROLIN 1 €N 2 OREBROBOS55 Y IOBNETY
O BreCESgRn3EER 1 X2 0EBENTT

EEZIE. FPEEFOEERBRERIDEHICHAATDIHEICEBS
TEAMTEDLIICSYIDBNEICIEDBRDICIE > TNET

Bt 2 R : R 2]

J—RfEl | a==2 ? 10 : 20;
J—RfEl | a»=0 ? 1 : 1.5;

YV —23— Rl
V=D 741 )LE : Sample7_5.java
r A
/] B - SHDHIE
class Sample7_5
{
public static void main(String[] args)
{
int i = 3;
/] 1BE - TEDHIE
String str;
str = ((i%2==0) ? "{BE" : "FTE");
System.out.println("S5Z5NIEEEHI +str+" T, ");
}
& J
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